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Accept unambiguous abbreviations o
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Completes all 8 entries of the table correctly, ie

do wear

do not

Total
glasses | wear glasses
boys| 1 15 1%
gils| 3 1" 1
Total 4 2

Completes at least four entries correctly
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1Im  Indicates Nik and gives a correct explanation
eg

1 sandwich, 2 apples and 1 banana is missing from
the graph and that is what Nik had in hs lunch box
‘The graph shows the correct number of fruit bars.
‘and Nikis the only ane who does not have a

it bar in his lunch box so his must be the
missing one

‘The totals from the table are 7, 6, 5,6, and from
the graph 6, 4,4, 6, and the difference is Nik
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g
* 1 sandwich, 2 apples, 1 banana
« Because the number of fruit barsis correct
* 1banana missing
* 7,6,56and6,4,4,6seen

x Incorrect or incomplete explanation
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o 1 sandwich, 2apples
* There are 6 fuit bars
* 2apples are missing
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for Zhang.
Condone

For 1m, accept a follow through for their
incorrect total for Park
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Accept Seb AND Mina.

Names may be given in any order
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recognisable misspellings.
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= ‘One-third are 8 o'clock or later'
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“Twice as many got up before Sam.
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Completes all 7 entries in the table correctly, ie:

No. | Football | Netball | Hockey
oM |2 | 7 7 1
6|3 | 16 9 s
ot | o | s w0 | s

Completes the fist two rows (6M & 6P) correctly

Gompletes the third row (6T) correctly

m
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‘Award TWO marks for four names correctly

placed on the diagram as shown:
Alffie Donna
Megan Chen

Ifthe answer s incorrect, award ONE mark for
three names correctly placed.

Upto2m

Accept unambiguous abbreviations or
recognisable misspellings.

Do not accept names written in more than
‘one section.
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Award TWO marks for the correct answer of
145

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.

. 144
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101527

Answer need not be obtained for the
award of ONE mark.





image24.png
&

191,118

48,361

m

m





image25.png
1m

1m

Do not accept -9 or 9-
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Award TWO marks for the correct answer
of 1,609

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* 5895+1344 =7,239
8,848 - 7,239

Answer need not be obtained for the
award of ONE mark.
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Do not accept -7 or 7-

Accept unambiguous abbreviations or
recognisable misspellings.
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7b | Table completed with three correct numbers,

as shown:

Number of
kittens

250-299

2

300-349

3

350-399

400-449

1m

1m

Al three numbers must be correct for the
award of the mark.

Do not accept tally marks on their own.
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image2.png
Award TWO marks for all seven
boes completed correctly as shown:

vockey [founders| ot
o | 22 | 28 | 50
o | 27 | 2 | s
e | 49 | 54 | 103

If the answer is incorrect, award ONE
mark for five or six boxes completed

correctly.

g

up

©@




image3.png
12a a m Do not accept a lst of days of the.
week

12b Monday AND Thursday m Accept unambiguous abbreviations or
recognisable misspellings.
Accept days written in either order
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152 1 hour 25 minutes m The answer is a time interval
(see page 5 for guidance).

156 12:10pm m The answer is a specific time
(see page 5 for guidance).




